## BY-LAW ARTICLE XI SPORTS OFFICIALS FEES FOR 2021-22 SCHOOL YEAR

A mileage stipend shall be paid **to the driver for gasoline and wear and tear on their vehicle** at the following tiers one-way: over 40 miles \$14.00, over 80 miles \$24.00 for varsity and sub-varsity.

The pre-season contest rate shall be the same as the sub-varsity rate.

The fee for any contests where the same referee is used for two different games at the same site on the same day be reduced by \$10.00. The following sports are excluded from the \$10.00 reduction: gymnastics, swimming and diving and track and field.

SPORT		
	Sub-Varsity	Varsity
Baseball	\$70.00	\$90.00
Basketball	\$70.00	\$90.00
	3 Officials (optional)	\$75.00
Basketball - Unified		\$70.00
Field Hockey	\$70.00	\$90.00
Football	*	\$90.00
* See note below		
4 Required Sub-V	\$70.00	
(5 Recommended) Sub-V	\$60.00	
Gymnastics	\$70.00	\$90.00
Ice Hockey	\$70.00	\$90.00
Lacrosse	\$70.00	\$90.00
Track	(1 Required)	\$90.00
Soccer	\$70.00	\$90.00
	3 <sup>rd</sup> Official (optional)	\$103/80/80
Soccer - Unified		\$70.00
Softball	\$70.00	\$90.00
Spirit	Please see attached	
Volleyball	\$70.00	\$90.00
Volleyball - Unified		\$70.00
Wrestling	Please see attached	1

#### **Gymnastics**

Dual Meet is defined as 2 teams with a total judgment of 28 routines.

Tri Meet is defined as 3 teams with at total judgment of 42 routines.

Quad Meet is defined as 4 teams with a total judgment of 56 routines.

Dual meet with 2 officials, 2 events at a time = 28 judgments

Single fee = \$90.00

Tri Meet with 2 officials, 2 events at a time = 42 judgments

1.5 X fee = \$135.00

Tri Meet with 3 officials:

1 judge does 2 events (42 judgments) = 1.5 X fee (\$135.00)

Quad Meet with 2 officials, 2 events at a time = 56 judgments

2 X fee = \$180.00

Quad Meet with 3 officials:

1 judge does 2 events (56 judgments) =  $2 \times 10^{-2} \text{ J}$  fee (\$180.00)

2 judges do 1 event (28 judgments) = fee (\$90.00)

Quad with 4 officials, 1 event at a time = 28 judgments

All judges single fee = \$90.00

In the event of independent competitors from schools who do not have teams:

If you are sending an independent gymnast to a meet, you must submit in advance, or bring with you to the meet, payment in the amount of \$4.00 per event or \$16 per athlete. Individual gymnasts must contact all schools where they plan on attending meets at least one week in advance and if the gymnast then does not show up at the meet, she will still be responsible for the payment of officials.

### **Track**

- ➤ Varsity Dual Meet 1 Official required at single flat fee.
- ➤ Varsity Invitational Meet 2 Officials recommended at single flat fee per official; however, if only one official is assigned, he/she shall receive 2X the single flat fee. (without the travel fee reduction).
- An invitational meet is defined as five (5) or more teams with ten (10) or more competitors per team.

Spirit				
_	Performance	Technical	Scribe	Head Line
# Required	4	2	*Recommended	*Recommended
Up to 10				
*Performances	\$77.00	\$77.00	\$42.00	\$77.00
per Session				
Each additional	\$9.50	\$9.50	\$6.00	\$9.50
Performance				

<sup>\*</sup>Encouraged for larger events

- Performances are scheduled to take place every 6 minutes
- A break (not to exceed 15 minutes) is permitted after each set of 20 performances. Any scheduled break longer than 15 minutes will initiate the start of a new session.
- > Performances are not permitted during event breaks or between sessions
- ➤ Performance durations must be no longer than three minutes

<sup>\*</sup>Performance = any team or demo who takes the competition floor after the start of the event and before the awards ceremony.

#### SWIMMING AND DIVING

#### Dual Meet

2 officials required: \$95/official; over 4 hours, each official will be paid 1.5 times the normal rate, \$142.50 1 official: \$142.50 (1.5 times the rate); over 4 hours, the single official will be paid 2 times the normal rate, \$190.00

Varsity Invitational\* Meet:

2 Officials \$175 per official

If Diving is an event:

1 additional Official \$175.00

#### WRESTLING

- A. Dual Meet Fee \$93.00
- B. Individual Tournaments All tournament fees for officials for non-dual meet –individual competitions or tournaments are based on a per bout fee and time allowance. The per bout fee is the years dual meet fee divided by 14 (wt. classes) or \$6.64 per bout (including overtime periods). Consolation matches are prorated depending tournament designation of length of match (including overtime periods).

Rates are as follows for the 2021-2022 season:

Championship Round	\$6.64
5 minute Consolation	\$5.69
4 minute Consolation	\$4.74
3 minute Consolation	\$3.79

C. All non-varsity rates shall be established as 75% of varsity dual meet rate or \$69.75 per non-varsity dual meet: All tournament fees for officials for non-varsity competition are per match charge based upon the dual meet non-varsity fee for that year. The per bout fee is the years non-varsity dual meet fee divided by 14 (wt. classes) or \$4.98 per bout (including overtime periods). Consolation matches are prorated depending upon tournament designation of length of match (including overtime periods).

Rates are as follows for the 2021-2022 season:

Non-Varsity Championship Round	\$4.98
Non Varsity 5 minute Consolation	\$4.23
Non Varsity 4 minute Consolation	\$3.51
Non Varsity 3 minute Consolation	\$2.80

**D.** All non-varsity competition during a dual, tri-meet, quad meet or other extended dual meet or team dual meet competition will pay a per match fee equivalent to that seasons non-varsity dual (\$69.75 for 2021-22) meet fee divided by 14 (wt. classes) or \$4.98 per bout in the 2021-2022 season.

#### **ASSIGNORS' FEES**

<b>Sport</b>	<u>Fee</u>
Per Schedule	\$65
Gymnastics*	\$20
Spirit**	\$25
Swimming & Diving*	\$20
Track*	\$20

<sup>\*</sup>NOTE: Schools must pay the Assignor \$20 per meet, not to exceed \$65 per year.

<sup>\*\*</sup>Schools must pay the Assignor \$20 per meet, not to exceed \$60 per year.

<sup>\*\*\*</sup> per schedule: One assigning fee shall be paid for the sub-varsity and varsity schedules when they are played back to back with the same officials in the following sports, but not limited to volleyball; field hockey; boys and girls lacrosse.

#### SPORTS OFFICIALS FEES FOR STATE TOURNAMENT EVENTS **SPORT** # of OFFICIALS # of OFFICIALS 2021-22 **SPORT** 2021-22 Spirit - Fall 4 Performance 133.25 **Baseball** Per Session (2) 2 Technical 133.25 2 **Preliminary** 100.00 1 Head Line 133.25 Ouarterfinal 100.00 1 Scribe 72.00 Semifinal 3 112.00 Final 3 112.00 Spirit - Winter Basketball Preliminary 4 Performance 133.25 2 **Preliminary** 100.00 Per Session (2) 2 Technical 133.25 **Quarterfinal** 3 100.00 1 Head Line 133.25 Semifinal 3 112.00 1 Scribe 72.00 3 Final 112.00 **Finals** 4 Performance 152.00 2 Unified All Rounds 70.00 Per Session (2) 2 Technical 152.00 1 Head Line 152.00 Field Hockey 1 Scribe 82.00 Preliminary 2 100.00 2 Quarterfinal 100.00 **Swimming & Diving** Semifinal 112.00 97.00 Friday Night 4 Diving Referees Final 3 (one is stand-by) 112.00 1 Head Diving 107.00 Football Ref. **Ouarter** 5 112.00 Division I 6 Ref (2 Starters; 4 175.00 5 Stroke & Turn) Semifinal 112.00 5 2 "Head" Ref 185.00 Final 112.00 (1 Meet Ref.; **Gymnastics** 1 Admin. Ref.) 9 Championship 178.00 **Division II** 6 Ref (2 Starters; 4 175.00 Stroke & Turn) 185.00 Ice Hockey 2 "Head" Ref Preliminary 2 100.00 (1 Meet Ref.; Ouarterfinal 2 100.00 1 Admin. Ref.) Semifinal 2 - Referees112.00 1 – Linesman 112.00 Track & Field See Below Finals 2 – Referees 112.00 1 - Linesman 112.00 Volleyball Lacrosse Preliminary 2 100.00 2 Preliminary 100.00 Ouarterfinal (R1) 1 93.00 2 Quarterfinal 100.00 1 93.00 (R2)3 + 1 bench\* Semifinal 112.00 2 44.00 (L) Final 3 + 1 bench\* 112.00 Semifinal (R1) 1 110.00 \*63.00 110.00 (R2)1 Prelim/Quarter (Boys) \*\*3 Optional \*\*100.00 2 61.00 (L) Soccer Final (R1)1 110.00 2 **Preliminary** 100.00 (R2) 1 110.00 2 **Quarterfinal** 100.00 2 (L) 61.00 Prelim or Quarter \*3- Optional (1) R: 120.00 Unified All Rounds 1 70.00 (2) L: 90.00 Semifinal 2 Linesmen 100.00 Wrestling 1 Referee 136.00 Div. I 1 Head Official 357.00 Final 2 Linesmen 100.00 3 Officials 327.00 1 Referee 136.00 1 Head Official Div. II, III 357.00 Unified All Rounds 70.00 1 2 Officials 327.00 M.O.C. I Head Official 387.00 Softball 4 Officials 357.00 Preliminary 100.00 2 3 Ouarterfinal 100.00 Semifinal 3 112.00

112.00

3

Final

Cross Country 2021-22	Divisions I, II and III (3)		MOC			
Position	# Required	Payment	Total	# Required	Payment	Total
Head Chute Official	1	\$99.00	\$99.00	1	\$74.00	\$74.00
Asst. Chute Official	1	\$74.00	\$74.00	1	\$74.00	\$74.00
Course Safety	3	\$74.00	\$222.00	1	\$54.00	\$54.00
Other Chute Officials	6	\$74.00	\$444.00	6	\$54.00	\$324.00
Referee	1	\$74.00	\$74.00	1	\$54.00	\$54.00
Clerk	2	\$74.00	\$148.00	2	\$54.00	\$108.00
Starter	1	\$74.00	\$74.00	1	\$54.00	\$54.00
Totals			\$1,135.00			\$742.00

<sup>\*</sup>Payments for these positions are paid in conjunction with contract with Timing Service.

Indoor Track 2021-22	Divisions I & II			
Position	# Required	Payment/Official	Total	
Clerk (Head Finish)	1	\$98.00	\$98.00	
Clerk (Check-in)	1	\$98.00	\$98.00	
Asst Clerk (Finish)	1	\$68.00	\$68.00	
Asst Clerk (Check in)	1	\$68.00	\$68.00	
Starter	2	\$98.00	\$196.00	
Head Field Judge	1	\$98.00	\$98.00	
High Jump	1	\$68.00	\$68.00	
Long Jump	3	\$68.00	\$204.00	
Shot Put	3	\$68.00	\$204.00	
Head Inspector	1	\$98.00	\$98.00	
Inspectors Umpires	6	\$68.00	\$396.00	
Totals	21		\$1,608.00	

Unified Track 2021-22		
Position	Payment	
Starter	\$	70.00
Finish Judge 1/Long Jump	\$	70.00
Finish Judge 2/Long Jump	\$	70.00
Referee/Shot Put/Relay Zone	\$	70.00
Long Jump/Asst. Clerk	\$	70.00
Shot Put/Relay Zone Inspector	\$	70.00
Clerk/Long Jump	\$	70.00

Outdoor Track 2021-22	Divisions I, II & III (3)			MOC		
Position	# Required	Payment	Total	# Required	Payment	Total
Track Referee	1	\$89.00	\$89.00	1	\$89.00	\$89.00
Field Referee	2	\$89.00	\$178.00	2	\$89.00	\$178.00
Finish Line Judge	2	\$74.00	\$148.00	3	\$74.00	\$222.00
Pole Vault	3	\$104.00	\$312.00	3	\$104.00	\$312.00
High Jump	2	\$74.00	\$148.00	3	\$74.00	\$222.00
Long Jump	2	\$74.00	\$148.00	3	\$74.00	\$222.00
Triple Jump	2	\$74.00	\$148.00	3	\$74.00	\$222.00
Shot Put	3	\$74.00	\$222.00	3	\$74.00	\$222.00
Discuss	3	\$74.00	\$222.00	3	\$74.00	\$222.00
Javelin	3	\$74.00	\$222.00	4	\$74.00	\$296.00
Clerk	3	\$74.00	\$222.00	4	\$74.00	\$296.00
Inspector (Umpire)	6	\$49.00	\$294.00	6	\$49.00	\$294.00
Starter	2	\$104.00	\$208.00	3	\$104.00	\$312.00
Wind Gauge	2	\$54.00	\$108.00	2	\$54.00	\$108.00
Implement Inspector	2	\$24.00	\$48.00	2	\$24.00	\$48.00
Totals	38		\$2,717.00	45		\$3,265.00

Fee is per divisional meet

Note: Non-certified officials will receive \$10.00 less than the payment amount noted above.

# All Sports – Flat Fee/No Travel Allowance